Model Question Paper
I Sem BVOC (IT) Examination

LANGUAGE — SANSKRIT 1

Sanksheparamayanam, Grammar and Comprehension

Time: 2hrs

Instructions: 1) Answer in Sanskrit / Kannada / English

2) Answer Q.Nos |, V and IV in Sanskrit only

. HHAHA 3cak for@d |
TO0IreB HVSTHY, 8O 2TAO.

Select and write the correct answer.

1. RidpelTe: & 7
31) 4T 3m dleHifh: ) Fifeer:
2. wia faenfa Tegeeafa afea ?
MI@X 3T 3) oy
3. [ANY &Hfd FHosifa ded?
3 1 3m3 )5
4. quEaredy R d: & ?
ARG AT F) A

5. F: AR IRUY=E? ?

3N TA: 3 gafra: 3) dTeHIToh:
6. gHST: & ?
31) Tqur: 3T) AR g) TH:

7. TAOT &id e Aled?
37) 10000 3m) 15000 ) 20000
8. AT far T &:? 2

37) drar 3M) AT ) el

3) 5o

3 ¥

)6

$) 37oLeT:

S

$)

$) arfe:

) 24000

<) TS

Max. Marks: 60

1x10 =10



9. &1 ¢aAra fafdar?

AR 3 T 3) fager $) TeaAarsit
10. AR FT AHFWIA?

Jurdd  3mgefaonr  g) 9) Afgolr

gaal: Yeet for@d | o883, 805 w3dd.

Write an essay on any two of the following.

3)  GeeIHhusEy AR fored |
DJTBET To00BTY, WA .

3m  AgThreTeeIoN fagurd |
DTFT W VFEMFRY, Bede 0.

Describe the charecteristics of Mahakavya

3) ARTATY IO 3ifhcy forad |
200D renoR, B8E0d W3AO.

Write on the virtues of SriRama.

TATUTT LANRTATH 37TATS hed fagULd |
e werdde Sued) ZREBNYRY DR IBDD.

Translate any three shlokas and explain.

¢, dIEEATedy foRd duedr arfeder aia|

7RE IRUTS dreAihafAggaas ||
R. TEATATNRHAN, gocar HTAThenT|

I Geda’T &dt RATAITS |

3. YAEY SRAar 9T e grorgATRdr |

A gwﬁ R IGIRCCLEE RGN

2x8 =16

3x3 =9



¥ TAY TACR: GHEEHHETIR: |

Teod ARG IsT TAT Hghael: ||

g, WWWWZI

CIIAIIHSTIETI ~aade] JTH ||

Iv.  agead 8ecs fagurd | 2x3=6
03reYTeBTR AT N, V0TI ITOL.

Explain with reference to context any two of the following sentences.
2. ol SRRYEES ST fauelegad |

R. AN HHTCHT fAwefRafd e

3. Tl YT TSI, FFATAGHI, Tl |

Y. STER Al TAET P Fedl SIAYYH |

V. FERIATYAT SccR1ToT ford |

37) 91T forger-Tanfad-aasnt= fored | 5x1 =5
. TAET 2”&t 3. I aAT Y. HEFAT:
s, A £. IR0 . oYEITEr ¢. TR
31M) TOT FTHR-GE-aeeTe ford | 4x1 =4
?. USwd SECER 3. faee v wfosafd
3. 379 € TS L. BARE ¢ Weled

V1. IR IfScar TR=TlTe 3ccifor FERT YT forE@d | 2%x5=10

IMETATET: R Teh: fauTeT: ATedald®: M| dF AIGIgMerRTcd gfayor: I3t
IGERIES] TH| Tehel Teh: AT JUH IThIRI faEde] ${H! UG STl
URIC| HUAGAT TS TG ‘YA IHTEHA TASTel T AUGelehUTTeAT HEH: |
HTASATRAMA| FFah e TR | * 3 SuIelTe] e | Wed forearaiteldr:
A HUIA: A RFfiaaasa 3adr 9Tl gT: AT | 37 Ud 32Td — qgdr
faeeia = frare sfa|




N ATATREATATH Scck HEHAATSIT forare |

¢ Fafa: fhAae ?

R aferor: H fAaafed 2
3 QATeHATE: i A ?
Y 37ET: A Hr?

s HYVCT: FHF TGI: 3T ?




